	Α	В	С	D	Е
1	Date	Employee	Location	Work Performed	Employee Type
				Accident at intersection taking out power	
			CIMS - BOSTON	distribution box and traffic light - remove triple head	Technician
2	01-Oct-18	REX II; JAMES D	Harrison and Kneeland	on traffic light so that can be replaced	Programmer
				Accident at intersection taking out power	
			CIMS - BOSTON	distribution box and traffic light - remove triple head	Technician
3	01-Oct-18	WASHBURN; GREGORY R	Harrison and Kneeland	on traffic light so that can be replaced	Programmer
			CIMS - BOSTON	- remove ptp5400@ bhave/river/babson	Technician
4	01-Oct-18	REX II; JAMES D	Blue Hill Ave	-install ubiquity to wood haven sector	Programmer
			CIMS - BOSTON	- remove ptp5400@ bhave/river/babson	Technician
5	01-Oct-18	WASHBURN; GREGORY R	Blue Hill Ave	-install ubiquity to wood haven sector	Programmer
			CIMS - REVERE	Walk thru of 3 Revere sites for additional cameras	
			Four Seasons and Malden/Revere	and antennae to Revere CIMs, HS, Park and Four	Technician
6	01-Oct-18	SAVAGE;MARK	FD	Seasons Hotel	Programmer
				Axis camera randomly going to home position.	
				replaced camera with Bosch dome fixed. Camera did	
				not land on system. Troubleshoot. Modem updated.	
				Installed a temp axis fixed to get thru night. Next	
			CIMS - BOSTON	night installed a fixed dvtel fixed. Camera no good.	Technician
7	01-Oct-18	SAVAGE;MARK	Warren and Milk	Installed another dvtel fixed . All set	Programmer
				Axis camera randomly going to home position.	
				replaced camera with Bosch dome fixed. Camera did	
				not land on system. Troubleshoot. Modem updated.	
				Installed a temp axis fixed to get thru night. Next	
			CIMS - BOSTON	night installed a fixed dytel fixed. Camera no good.	 Technician
8	01-Oct-18	SAVAGE;MARK	Warren and Milk	Installed another dvtel fixed . All set	Programmer

	F	G	Н	I	J
1	Hours	Pay_ID	Rate	Total	
2	1.5	REG	\$109.00	\$163.50	
3	1.5	REG	\$109.00	\$163.50	
4	2	REG	\$109.00	\$218.00	
5	2.5	REG	\$109.00	\$272.50	
6	4	REG	\$109.00	\$436.00	
7	1	REG	\$109.00	\$109.00	
8	5	ОТ	\$125.00	\$625.00	

	Α	В	С	D	Е
			CIMS - BOSTON		Technician
9	01-Oct-18	REX II; JAMES D	Dot and Ash	-remove ups, intermittent	Programmer
			CIMS - BOSTON		Technician
10	01-Oct-18	WASHBURN; GREGORY R	Dot and Ash	Found dead UPS, removed and added power strip	Programmer
			CIMS - BOSTON	-reinstall triple head on traffic signal-possibly	Technician
11	02-Oct-18	REX II; JAMES D	Harrison and Kneeland	temporary	Programmer
			CIMS - BOSTON	-reinstall triple head on traffic signal-possibly	Technician
12	02-Oct-18	REX II; JAMES D	Harrison and Kneeland	temporary	Programmer
			CIMS - BOSTON		Technician
13	02-Oct-18	MARCHAND; ALEXANDER	Ipswich Street	Assist Mark with Fenway Park Tower radio install	Apprentice
			CIMS - BOSTON		Technician
14	02-Oct-18	SAVAGE;MARK	Ipswich Street	Install radios and mounts at 1330.bfd	Programmer
			CIMS - BOSTON		Technician
15	02-Oct-18	VAZQUEZ CRUZ; DEWARS	Ipswich Street	Install radios and mounts at 1330.bfd	Apprentice
			CIMS - BOSTON	-check 35 NHampton roof for possible cable	Technician
16	02-Oct-18	REX II; JAMES D	35 NorthHampton	placement issue. JS verified we where ok	Programmer
			CIMS Boston -Kneeland and	Install temp 120 volt power to pole due to car	
17	17-Oct-18	Sonet	Harrison	accident; Reconnect power to new pole	Sonet
			CIMS - BOSTON		Technician
18	03-Oct-18	MARCHAND; ALEXANDER	Ipswich Street	Install radios and mounts at 1330.bfd	Apprentice
			CIMS - BOSTON		Technician
19	03-Oct-18	REX II; JAMES D	Ipswich Street	-assist mark with the Fenway Park tower radio install	Programmer
			CIMS - BOSTON		Technician
20	03-Oct-18	SAVAGE;MARK	Ipswich Street	-assist mark with the Fenway Park tower radio install	Programmer
			CIMS - BOSTON		Technician
21	03-Oct-18	SAVAGE;MARK	Ipswich Street	-assist mark with the Fenway Park tower radio install	Programmer
			CIMS - BOSTON		Technician
22	03-Oct-18	VAZQUEZ CRUZ; DEWARS	Ipswich Street	-assist mark with the Fenway Park tower radio install	Apprentice
				Axis camera randomly going to home position.	
				replaced camera with Bosch dome fixed. Camera did	
				not land on system. Troubleshoot. Modem updated.	
				Installed a temp axis fixed to get thru night. Next	
			CIMS - BOSTON	night installed a fixed dvtel fixed. Camera no good.	Technician
23	03-Oct-18	MARCHAND; ALEXANDER	Warren and Milk	Installed another dvtel fixed . All set	Apprentice

	F	G	Н	ı	J
9	2	REG	\$109.00	\$218.00	
10	1	REG	\$109.00	\$109.00	
11	1	ОТ	\$125.00	\$125.00	
12	4	REG	\$109.00	\$436.00	
13	8	REG	\$85.00	\$680.00	
14	7	REG	\$109.00	\$763.00	
15	8	REG	\$85.00	\$680.00	
16	1	ОТ	\$125.00	\$125.00	
17	8	REG	\$102.00	\$816.00	
18	1	REG	\$85.00	\$85.00	
19	3	REG	\$109.00	\$327.00	
20	1.5	ОТ	\$125.00	\$187.50	
21	5	REG	\$109.00	\$545.00	
22	1	REG	\$85.00	\$85.00	
23	1	REG	\$85.00	\$85.00	

	А	В	С	D	Е
24	03-Oct-18	SAVAGE;MARK	CIMS - BOSTON Warren and Milk	Axis camera randomly going to home position. replaced camera with Bosch dome fixed. Camera did not land on system. Troubleshoot. Modem updated. Installed a temp axis fixed to get thru night. Next night installed a fixed dytel fixed. Camera no good. Installed another dytel fixed . All set	Technician Programmer
25	03-Oct-18	VAZQUEZ CRUZ; DEWARS	CIMS - BOSTON Warren and Milk	Axis camera randomly going to home position. replaced camera with Bosch dome fixed. Camera did not land on system. Troubleshoot. Modem updated. Installed a temp axis fixed to get thru night. Next night installed a fixed dytel fixed. Camera no good. Installed another dytel fixed . All set	Technician Apprentice
26	03-Oct-18	PAPPAS; SEAN M	CIMS - BOSTON Hancock and Bowdoin	The camera was bad on the roof of the bomb squad. I replaced it with a new camera and re landed it on the system. It's back up and recording.	Technician Programmer
27	03-Oct-18	WHITCOMB; SCOTT M	CIMS - BOSTON Hancock and Bowdoin	The camera was bad on the roof of the bomb squad. I replaced it with a new camera and re landed it on the system. It's back up and recording.	Technician Programmer
28	03-Oct-18	PAPPAS; SEAN M	CIMS - BOSTON Berkley and Boylston	Assist PAP with radio issue at Berkley/Boylston, st james, Berkley, public alley	Technician Programmer
29	03-Oct-18	PAPPAS; SEAN M	CIMS - BOSTON Berkley and Boylston	The camera was down at Berkley & Boylston. It was the radio that factory defaulted causing the camera to go down. Got the radio back up. Camera is back up and recording.	Technician Programmer
30	03-Oct-18	WHITCOMB; SCOTT M	CIMS - BOSTON Berkley and Boylston	The camera was down at Berkley & Boylston. It was the radio that factory defaulted causing the camera to go down. Got the radio back up. Camera is back up and recording.	Technician Programmer
31	04-Oct-18	SAVAGE;MARK	CIMS Boston Blue Hill Pkwy	Reinstall camera and 2 fixed on enclosure on temp pole, reconfigure antennae	Technician Programmer
32		VAZQUEZ CRUZ; DEWARS	CIMS Boston Blue Hill Pkwy	Reinstall camera and 2 fixed on enclosure on temp pole, reconfigure antennae	Technician Apprentice
33	04-Oct-18	REX II; JAMES D	CIMS - BOSTON Berkley and Boylston	The camera was down at Berkley & Boylston. It was the radio that factory defaulted causing the camera to go down. Got the radio back up. Camera is back up and recording.	Technician Programmer

	F	G	Н	I	J
				¢249.00	
24	2	REG	\$109.00	\$218.00	
25	1	REG	\$85.00	\$85.00	
26	5	REG	\$109.00	\$545.00	
27	5	REG	\$109.00	\$545.00	
	_				
28	3	REG	\$109.00	\$327.00	
29	1	ОТ	\$125.00	\$125.00	
30	3	REG	\$109.00	\$327.00	
31	6	REG	\$109.00	\$654.00	
32	6	REG	\$85.00	\$510.00	
33	2	REG	\$109.00	\$218.00	

	Α	В	С	D	Е
			CIMS - BOSTON		Technician
34	05-Oct-18	MARCHAND; ALEXANDER	Ipswich Street	-assist mark with the Fenway Park tower radio install	Apprentice
			CIMS - BOSTON		Technician
35	05-Oct-18	PAPPAS; SEAN M	Ipswich Street	-assist mark with the Fenway Park tower radio install	Programmer
			CIMS - BOSTON		Technician
36	05-Oct-18	PAPPAS; SEAN M	Ipswich Street	-assist mark with the Fenway Park tower radio install	Programmer
			CIMS - BOSTON		Technician
37	05-Oct-18	REX II; JAMES D	Ipswich Street	-install radios and mounts @ 1330,bfd	Programmer
			CIMS - BOSTON		Technician
38	05-Oct-18	SAVAGE;MARK	Ipswich Street	-install radios and mounts @ 1330,bfd	Programmer
			CIMS - BOSTON		Technician
39	05-Oct-18	VAZQUEZ CRUZ; DEWARS	Ipswich Street	-install radios and mounts @ 1330,bfd	Apprentice
			CIMS - BOSTON		Technician
40	06-Oct-18	SAVAGE;MARK	Ipswich Street	-install radios and mounts @ 1330,bfd	Programmer
			CIMS - BOSTON		
41	09-Oct-18	NISBET; ERIC W.	BPD	Time Synch issues	Software Technician
				Reviewing camera locations with Det Bruker Got	
				NEMA box mounted and powered up at Oak Island	Technician
42	09-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	and North Shore Rd Pole	Programmer
				Install Link between 1330 Jersey/Van Ness, Cat 5 run	
			CIMS - BOSTON	a 1330, bring up IPS Vanessa radio, clean up Boylston	Technician
43	09-Oct-18	MARCHAND; ALEXANDER	Ipswich Street	Sunoco Neman, Connect to Fenway Light tower	Apprentice
43	07 000 10		i parrieri di dat	installed 2 cable runs on BFD Fire Alarm roof.	, Aprionities
				Climbed light tower at Fenway and installed 60	
				degree sector. Reconfigured all BAA cameras with	
				antennae to Fire alarm. Installed sled on 1330	
				Boylston with dish and sector. ran temp power to	
				front of building. Added cameras to Brookline and	
			CIMS - BOSTON	Yawkey. Maintenance to all domes and verified	Technician
44	09-Oct-18	SAVAGE;MARK	Ipswich Street	stickers on all boxes. This is an ongoing job.	Programmer
		,		installed 2 cable runs on BFD Fire Alarm roof.	J
				Climbed light tower at Fenway and installed 60	
				degree sector. Reconfigured all BAA cameras with	
				antennae to Fire alarm. Installed sled on 1330	
				Boylston with dish and sector. ran temp power to	
				front of building. Added cameras to Brookline and	
			CIMS - BOSTON	Yawkey. Maintenance to all domes and verified	Technician
1 I	00 0 1 40	SAVAGE;MARK	Ipswich Street	stickers on all boxes. This is an ongoing job.	Programmer

	F	G	Н	I	J
34	6	REG	\$85.00	\$510.00	
35	8	REG	\$109.00	\$872.00	
36	1	ОТ	\$125.00	\$125.00	
37	8	REG	\$109.00	\$872.00	
38	8	REG	\$109.00	\$872.00	
39	8	REG	\$85.00	\$680.00	
40	8	ОТ	\$125.00	\$1,000.00	
41	4	REG	\$125.00	\$500.00	
42	2	ОТ	\$125.00	\$250.00	
43	8	REG	\$85.00	\$680.00	
44	8	REG	\$109.00	\$872.00	
45	2	OT	\$125.00	\$250.00	

	Α	В	С	D	Е
				installed 2 cable runs on BFD Fire Alarm roof.	
				Climbed light tower at Fenway and installed 60	
				degree sector. Reconfigured all BAA cameras with	
				antennae to Fire alarm. Installed sled on 1330	
				Boylston with dish and sector. ran temp power to	
				front of building. Added cameras to Brookline and	
			CIMS - BOSTON	Yawkey. Maintenance to all domes and verified	Technician
46	09-Oct-18	VAZQUEZ CRUZ; DEWARS	Ipswich Street	stickers on all boxes. This is an ongoing job.	Apprentice
			CIMS - BOSTON		
47	10-Oct-18	NISBET; ERIC W.	BPD	Time Synch issues	Software Technician
			CIMS - BOSTON		
48	10-Oct-18	NISBET; ERIC W.	Multiple	NO notes	Software Technician
				Built out the NEMA box for the Wonderland Circle	Technician
49	10-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	Install	Programmer
				Install Link between 1330 Jersey/Van Ness, Cat 5 run	
			CIMS - BOSTON	a 1330, bring up IPS Vanessa radio, clean up Boylston	Technician
50	10-Oct-18	REX II; JAMES D	Ipswich Street	Sunoco Neman, Connect to Fenway Light tower	Programmer
				Install Link between 1330 Jersey/Van Ness, Cat 5 run	
			CIMS - BOSTON	a 1330, bring up IPS Vanessa radio, clean up Boylston	Technician
51	10-Oct-18	REX II; JAMES D	Ipswich Street	Sunoco Nema, Connect to Fenway Light tower	Programmer
				Assemble 3x head camera for Brookline and Yawkey,	
				Lansdowne camera 2 add Arial cat 5 2 bump poles	
			CIMS - BOSTON	install fix and poe switch, cleaned various cameras	Technician
52	10-Oct-18	SAVAGE;MARK	Ipswich Street	around Fenway	Programmer
				Assemble 3x head camera for Brookline and Yawkey,	
				Lansdowne camera 2 add Arial cat 5 2 bump poles	
			CIMS - BOSTON	install fix and poe switch, cleaned various cameras	Technician
53	10-Oct-18	WASHBURN; GREGORY R	Ipswich Street	around Fenway	Programmer
				Assemble 3x head camera for Brookline and Yawkey,	
				Lansdowne camera 2 add Arial cat 5 2 bump poles	
			CIMS - BOSTON	install fix and poe switch, cleaned various cameras	Technician
54	10-Oct-18	WASHBURN; GREGORY R	Ipswich Street	around Fenway	Programmer
				Trouble with intermittenent 120 volt power at pole;	
55	17-Oct-18	Sonet	CIMS Boston - Mount Vernon	relcocated cameras to a new location and rewired	Sonet
	47.0				
56	17-Oct-18	Sonet	CIMS Boston - Harrison Ave/MLK	Troubleshoot power outages and replace photo eye	Sonet

	F	G	Н	I	J
46	8	REG	\$85.00	\$680.00	
47	3	ОТ	\$145.00	\$435.00	
	_				
48	4	REG	\$125.00	\$500.00	
40	2	ОТ	\$125.00	\$250.00	
49		01	Ψ123.00	Ψ230.00	
50	8	REG	\$109.00	\$872.00	
51	2.5	ОТ	\$125.00	\$312.50	
31			722000	7022.00	
52	4	REG	\$109.00	\$436.00	
53	1.5	ОТ	\$125.00	\$187.50	
- 00			<u> </u>	·	
54	8	REG	\$109.00	\$872.00	
55	28	REG	\$102.00	\$2,856.00	
55			•	. ,	
56	8	REG	\$102.00	\$816.00	

	Α	В	С	D	E
				10-10-18	
				-Plotted out wireless locations, added radio at 1330	
				Boylston to hit Jersey St. Section.	
				-Jersey and Van Ness radio replacement	
				-172 Ipswich config radio to 1330 AP	
			CIMS - BOSTON	-Boylston & Ipswich Config Radio to Fenway AP and	Technician
57	11-Oct-18	WASHBURN; GREGORY R	Ipswich Street	power up PTZ.	Programmer
				10-11-18	
				-Added Can at 55 Jersey with Fixed.	
				-Re IP'd all equipment to go to Bonet BFD H.Q	
				-BFD Fiber TX to Cat 5, added Switch, realigned	
				dishes on roof.	
			CIMS - BOSTON	-Landed all cams. replaced 55 Jersey cam	Technician
58	11-Oct-18	WASHBURN; GREGORY R	Ipswich Street	-Added all equipment on intermapper.	Programmer
				10-6-18	
				-Assemble 3x head cam for Brookline & Yawkey	
				-Lansdowne Cam2 add Arial cat5 2 bump poles	
			CIMS - BOSTON	install fix and POE Switch.	Technician
59	11-Oct-18	WASHBURN; GREGORY R	Ipswich Street	-Cleaned various cams around Fenway also	Programmer
				10-10-18	
				-Plotted out wireless locations, added radio at 1330	
				Boylston to hit Jersey St. Section.	
				-Jersey and Van Ness radio replacement	
				-172 Ipswich config radio to 1330 AP	
			CIMS - BOSTON	-Boylston & Ipswich Config Radio to Fenway AP and	Technician
60	11-Oct-18	WASHBURN; GREGORY R	Ipswich Street	power up PTZ.	Programmer
				10-11-18	
				-Added Can at 55 Jersey with Fixed.	
				-Re IP'd all equipment to go to Bonet BFD H.Q	
				-BFD Fiber TX to Cat 5, added Switch, realigned	
				dishes on roof.	
			CIMS - BOSTON	-Landed all cams. replaced 55 Jersey cam	Technician
61	11-Oct-18	WASHBURN; GREGORY R	Ipswich Street	-Added all equipment on intermapper.	Programmer
				This site had no power. The power source was	
				coming from a pole across the street. The phot cell	
			CIMS - CHELSEA	on top of the pole was damaged and needs to be	Technician
62	11-Oct-18	PAPPAS; SEAN M	Highland Suffolk	replaced.	Programmer

	F	G	Н		J
		0.7	1405.00	1405.00	
57	1	ОТ	\$125.00	\$125.00	
58	1	ОТ	\$125.00	\$125.00	
36		0.	V123.00		
59	8	REG	\$109.00	\$872.00	
60	8	REG	\$109.00	\$872.00	
61	8	REG	\$109.00	\$872.00	
62	1	ОТ	\$125.00	\$125.00	

	Α	В	С	D	E
				This site had no power. The power source was	
				coming from a pole across the street. The phot cell	
			CIMS - CHELSEA	on top of the pole was damaged and needs to be	Technician
63	11-Oct-18	PAPPAS; SEAN M	Highland Suffolk	replaced.	Programmer
				This site had no power. The power source was	
				coming from a pole across the street. The phot cell	
			CIMS - CHELSEA	on top of the pole was damaged and needs to be	Technician
64	11-Oct-18	WHITCOMB; SCOTT M	Highland Suffolk	replaced.	Programmer
				The PTZ was down and not showing video. Had to	
			CIMS - BOSTON	change out the camera for a fixed camera and it	Technician
65	11-Oct-18	PAPPAS; SEAN M	UMANA Barnes Roof	back recording video	Programmer
				The PTZ was down and not showing video. Had to	
			CIMS - BOSTON	change out the camera for a fixed camera and it	Technician
66	11-Oct-18	wнітсомв; scott м	UMANA Barnes Roof	back recording video	Programmer
				Modem wad down and not showing video. Had to	
			CIMS - BOSTON	reset the modem and rediscover the camera. It's	Technician
67	11-Oct-18	PAPPAS; SEAN M	Walnut and Dale	back up and recording	Programmer
				Modem wad down and not showing video. Had to	
			CIMS - BOSTON	reset the modem and rediscover the camera. It's	Technician
68	11-Oct-18	wнітсомв; scott м	Walnut and Dale	back up and recording	Programmer
			CIMS - BOSTON		
69	11-Oct-18	NISBET; ERIC W.	BPD	Time Synch issues	Software Technician
			CIMS - BOSTON		
70	11-Oct-18	NISBET; ERIC W.	BPD	Archiver 57 rehab	Software Technician
				10-10-18	
				Install link between 1330-jersey/van ness	
				-cat5 run at 1330	
				-bring up ips/Vanessa radio	
			CIMS - BOSTON	-clean up Boylston Sunoco nema/connect to Fenway	Technician
71	11-Oct-18	REX II; JAMES D	Ipswich Street	light tower AP	Programmer
				10-11-18	-
				Install nema/radio to 1330- bullet fixed at	
			CIMS - BOSTON	jersey/vanness	Technician
72	11-Oct-18	REX II; JAMES D	Ipswich Street	-bfalarm re ip radios/cams to bonet	Programmer
			CIMS - BOSTON	Assisted with the cable run and mounted the two	Technician
73	11-Oct-18	SAVAGE;MARK	Ipswich Street	dishes on the roof of the BFD	Programmer

	F	G	Н	I	J
63	1	REG	\$109.00	\$109.00	
	1	REG	\$109.00	\$109.00	
64	1	KLG	\$107.00	\$107.00	
65	4	REG	\$109.00	\$436.00	
66	4	REG	\$109.00	\$436.00	
	3	REG	\$109.00	\$327.00	
67	3	KLO	Ψ107.00	ψ027.00	
68	3	REG	\$109.00	\$327.00	
69	4	REG	\$125.00	\$500.00	
70	2	ОТ	\$145.00	\$290.00	
71	8	REG	\$109.00	\$872.00	
72	8	REG	\$109.00	\$872.00	
73	8	REG	\$109.00	\$872.00	

	Α	В	С	D	Е
				Plotted out wireless locations at 1330 Boylston to hit	
				Jersey Street Section Jersey and Van Ness radio	
				replacement. 172 Ipswich config radio to 1330 AP.	
			CIMS - BOSTON	Boylston and Ipswich config radio to Fenway AP and	Technician
74	11-Oct-18	SAVAGE;MARK	Ipswich Street	power up PTZ	Programmer
				10-6-18	
				-Assemble 3x head cam for Brookline & Yawkey	
				-Lansdowne Cam2 add Arial cat5 2 bump poles	
			CIMS - BOSTON	install fix and POE Switch.	Technician
75	11-Oct-18	WASHBURN; GREGORY R	Ipswich Street	-Cleaned various cams around Fenway also	Programmer
			CIMS - BOSTON		Technician
76	12-Oct-18	REX II; JAMES D	Broadway and L Street	-replace derry tech radio link with ubnt/cam up	Programmer
			CIMS - BOSTON		Technician
77	12-Oct-18	WASHBURN; GREGORY R	Broadway and L Street	-replace derry tech radio link with ubnt/cam up	Programmer
			CIMS - BOSTON		Technician
78	13-Oct-18	SAVAGE;MARK	Tremont and West Newton	NO notes	Programmer
			CIMS - BOSTON		Technician
79	13-Oct-18	WASHBURN; GREGORY R	Tremont and West Newton	NO notes	Programmer
				Mounted and powered up the box at the corner of	Technician
80	13-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	North Shore Rd and Revere Street.	Programmer
				10/9/18- Got Nema box mounted and powered up at	
				Oak Island and North Shore Rd pole. waiting on the	Technician
81	15-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	camera to install.	Programmer
				10/10/18- Built out the nema box for Wonderland	Technician
82	15-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	circle install.	Programmer
				10/13/18- Mounted and powered up the box at the	
				corner of North Shore rd. and Revere St. Waiting on	
				camera. Also mounted and powered up the Nema	Technician
83	15-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	box at Wonderland Circle. Waiting on camera.	Programmer
					Technician
84	15-Oct-18	REX II; JAMES D	CIMS - CHELSEA	-upgrade old canopy radio with ubiquity-cpd	Programmer
	14 0 -+ 10	NICOET, EDIC W	CINAS DOSTONI	Time Symphicsus nanotes	Coftware Technicies
85	10-001-18	NISBET; ERIC W.	CIMS - BOSTON	Time Synch issues - nonotes	Software Technician
86	16-Oct-18	NISBET; ERIC W.	CIMS - BOSTON	BPD archiver 57 rehab	Software Technician

	F	G	Н	ı	J
74	2	ОТ	\$125.00	\$250.00	
75	1	ОТ	\$125.00	\$125.00	
76	2	REG	\$109.00	\$218.00	
77	1.5	REG	\$109.00	\$163.50	
78	2	ОТ	\$125.00	\$250.00	
79	2	ОТ	\$125.00	\$250.00	
80	3	ОТ	\$125.00	\$375.00	
81	2	ОТ	\$125.00	\$250.00	
82	2	ОТ	\$125.00	\$250.00	
83	2	OT	\$125.00	\$250.00	
84	2	REG	\$109.00	\$218.00	
85	2	REG	\$125.00	\$250.00	
86	2	REG	\$125.00	\$250.00	

	А	В	С	D	Е
				The radio shooting over to the Ritz was disconnected	
				and out of alignment. This was causing multiple	
				cameras in A1 to be down. Realigned the radio and	
			CIMS - BOSTON	got it reconnected at the Ritz. All the cameras are	Technician
87	16-Oct-18	PAPPAS; SEAN M	Revere Hotel	backup and view able.	Programmer
				The radio shooting over to the Ritz was disconnected	
				and out of alignment. This was causing multiple	
				cameras in A1 to be down. Realigned the radio and	
			CIMS - BOSTON	got it reconnected at the Ritz. All the cameras are	Technician
88	16-Oct-18	WHITCOMB; SCOTT M	Revere Hotel	backup and view able.	Programmer
				Got the radio link installed at Oak Island and North	 Technician
89	18-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	Shore RD site connected from the corner to the park	Programmer
		,		Had to run wire on the Hyman tower roof to get	
				their radio link up for Wonderland Circle . That link	Technician
90	18-Oct-18	PAPPAS; SEAN M	CIMS - REVERE	is now up and running	Programmer
	40.0-4.40	WALLITCON AD COOTT NA	CINAC DEVEDE	Got the radio link installed at Oak Island and North	Technician
91	18-Oct-18	WHITCOMB; SCOTT M	CIMS - REVERE		Programmer
				Site has 2 cameras and a radio that were down. We	
				lost power at the site. The GFI needed to be replaced. We also needed a new cord cap to be put	
			CIMS - BOSTON	on the end of our SO cord. Got everything back up	 Technician
	10 Oct 10	PAPPAS; SEAN M	Lopresti Park	and working properly	
92	17-001-10	FAFFAS, SEAN IVI	Lopiesti Faik	Site has 2 cameras and a radio that were down. We	Programmer
				lost power at the site. The GFI needed to be	
				replaced. We also needed a new cord cap to be put	
			CIMS - BOSTON	on the end of our SO cord. Got everything back up	Technician
	19-Oct-18	PAPPAS; SEAN M	Lopresti Park	and working properly	Programmer
93	1, 300 10			The camera went down again. Went there power	
			CIMS - BOSTON	cycled the modem and rediscovered the camera. It's	Technician
94	19-Oct-18	PAPPAS; SEAN M	Walnut and Dale	back up and recording	Programmer
				Got the radio link installed at Oak Island and North	Technician
95	20-Oct-18	PAPPAS; SEAN M	CIMS - REVERE		Programmer
				Had to run wire on the Hyman tower roof to get	
				their radio link up for Wonderland Circle . That link	Technician
96	20-Oct-18	WHITCOMB; SCOTT M	CIMS - REVERE	is now up and running	Programmer

	F	G	Н	I	J
87	2	REG	\$109.00	\$218.00	
88	2	REG	\$109.00	\$218.00	
89	3	ОТ	\$125.00	\$375.00	
90	2	REG	\$109.00	\$218.00	
91	2	REG	\$109.00	\$218.00	
92	1	REG	\$109.00	\$109.00	
	•	O.T.	* 425.00	*405.00	
93 94	1	OT REG	\$125.00 \$109.00	\$125.00 \$109.00	
95	2	ОТ	\$125.00	\$250.00	
96	2	ОТ	\$125.00	\$250.00	

	A	В	С	D	E
				The camera being fed from the AP at Columbia and	
				Quincy were all down. Able to get into the AP but	
				not the station or anything past that point. We lost	
				power at Quincy and Drayton due to a service	
				shutdown by Eversource. We were only able to get	
				all of our cameras back once Eversource restored the	Technician
97	20-Oct-18	PAPPAS; SEAN M	CIMS - BOSTON	power	Programmer
<u> </u>		,		The camera being fed from the AP at Columbia and	
				Quincy were all down. Able to get into the AP but	
				not the station or anything past that point. We lost	
				power at Quincy and Drayton due to a service	
				shutdown by Eversource. We were only able to get	
				all of our cameras back once Eversource restored the	Technician
98	20-Oct-18	WHITCOMB; SCOTT M	CIMS - BOSTON	power	Programmer
		,		The camera at this site was not showing video.	
			CIMS - BOSTON	Went and powered cycled the camera and got the	Technician
99	20-Oct-18	PAPPAS; SEAN M	Washington and Melville	video back up.	Programmer
			CIMS - BOSTON	Replaced old PTZ camera and relanded camera on	Technician
100	22-Oct-18	MARCHAND; ALEXANDER	Commons Earl of Sandwich	BPD Server	Apprentice
			CIMS - BOSTON	Replaced old PTZ camera and relanded camera on	Technician
101	22-Oct-18	PAPPAS; SEAN M	Commons Earl of Sandwich	BPD Server	Programmer
				Old PTZ camera was bad. Replaced it with 2 fixed	
			CIMS - BOSTON	cameras on the existing can on the traffic AM.	Technician
102	22-Oct-18	MARCHAND; ALEXANDER	Washington and Melville	Assigned new Ips and landed them on the server.	Apprentice
				Old PTZ camera was bad. Replaced it with 2 fixed	
			CIMS - BOSTON	cameras on the existing can on the traffic AM.	Technician
103	22-Oct-18	MARCHAND; ALEXANDER	Washington and Melville	Assigned new Ips and landed them on the server.	Apprentice
				Old PTZ camera was bad. Replaced it with 2 fixed	
			CIMS - BOSTON	cameras on the existing can on the traffic AM.	Technician
104	22-Oct-18	PAPPAS; SEAN M	Washington and Melville	Assigned new Ips and landed them on the server.	Programmer
				Old PTZ camera was bad. Replaced it with 2 fixed	
			CIMS - BOSTON	cameras on the existing can on the traffic AM.	Technician
105	22-Oct-18	PAPPAS; SEAN M	Washington and Melville	Assigned new Ips and landed them on the server.	Programmer
				The cameras and radio were down. Radio was bad,	
				the port for the CAT5 was broken./ Changed out the	
				radio and reconfigured it to talk to the AP At the	
			CIMS - CHELSEA	Soldiers home. The camera and radio are back on	Technician
106	22-Oct-18	PAPPAS; SEAN M	Voke Park	line	Programmer

	F	G	Н	1	J
97	3	ОТ	\$125.00	\$375.00	
98	3	ОТ	\$125.00	\$375.00	
99	1	ОТ	\$125.00	\$125.00	
100	3	REG	\$85.00	\$255.00	
101	3	REG	\$109.00	\$327.00	
102	3	REG	\$85.00	\$255.00	
103	1	ОТ	\$115.00	\$115.00	
104	3	REG	\$109.00	\$327.00	
105	1	ОТ	\$125.00	\$125.00	
106	2	ОТ	\$125.00	\$250.00	

	Α	В	С	D	Е
				Got access to BU bookstore Citgo Sign boards at the	
				top of sign are rotted and not safe to get radio to	
				clean domes, clean domes, check radios around	Technician
107	23-Oct-18	REX II; JAMES D	CIMS - Boston D4 Fenway Cameras	Fenway Add fix at Sunoco station	Programmer
				Got access to BU bookstore Citgo Sign boards at the	
				top of sign are rotted and not safe to get radio to	
				clean domes, clean domes, check radios around	Technician
108	23-Oct-18	REX II; JAMES D	CIMS - Boston D4 Fenway Cameras	Fenway Add fix at Sunoco station	Programmer
				Got access to BU bookstore Citgo Sign boards at the	
				top of sign are rotted and not safe to get radio to	
				clean domes, clean domes, check radios around	Technician
109	23-Oct-18	WASHBURN; GREGORY R	CIMS - Boston D4 Fenway Cameras	Fenway Add fix at Sunoco station	Programmer
				-children's park radio hung up ,can't access gui or	
			CIMS - BOSTON	pass traffic	Technician
110	23-Oct-18	REX II; JAMES D	Childrens Park	-reset radio and switch	Programmer
			CIMS - BOSTON	Video traffic was not passing data at this location,	Technician
111	23-Oct-18	WASHBURN; GREGORY R	Childrens Park	reboot radio, also checked switch	Programmer
				Fenway park video monitoring assistance for BPD	
			CIMS - BOSTON	with various issues that came about as game as	Technician
112	23-Oct-18	SAVAGE;MARK	Fenway Monitoring	going on with various cams	Programmer
				Fenway park video monitoring assistance for BPD	
			CIMS - BOSTON	with various issues that came about as game as	Technician
113	23-Oct-18	WASHBURN; GREGORY R	Fenway Monitoring	going on with various cams	Programmer
				Cameras down after heavy rain, Columbia/Ceylon	
			CIMS - BOSTON	camera needed power cycle no access to pole last	Technician
114	23-Oct-18	REX II; JAMES D	B2 and C6-16	night	Programmer
				Got the PTZ at Oak Island and N Shore Rd I['d and	
				mounted/ Also go the PTZ at Bell Circle IP's and	
			CIMS - REVERE	mounted as well. Waiting on licenses to land them	Technician
115	23-Oct-18	PAPPAS; SEAN M	PD	on RPD's server	Programmer
				Got the PTZ at Oak Island and N Shore Rd I['d and	
				mounted/ Also go the PTZ at Bell Circle IP's and	
			CIMS - REVERE	mounted as well. Waiting on licenses to land them	Technician
116	23-Oct-18	PAPPAS; SEAN M	PD	on RPD's server	Programmer
				Integration CIMS cameras into Bonet system for	Technician
117	23-Oct-18	SAVAGE;MARK	CIMS - BOSTON	World Series	Programmer
				Integration CIMS cameras into Bonet system for	Technician
118	23-Oct-18	SAVAGE;MARK	CIMS - BOSTON	World Series	Programmer

	F	G	Н	I	J
107	8	REG	\$109.00	\$872.00	
108	1	OT	\$125.00	\$125.00	
100	8	REG	\$109.00	\$872.00	
109		KEG	Ψ107.00	ψ07 2.00	
110	1	ОТ	\$125.00	\$125.00	
111	1	ОТ	\$125.00	\$125.00	
	4	ОТ	\$125.00	\$500.00	
112	4	OI	\$125.00	\$500.00	
113	3	ОТ	\$125.00	\$375.00	
114	4	ОТ	\$125.00	\$500.00	
115	1	ОТ	\$125.00	\$125.00	
116	2	REG	\$109.00	\$218.00	
117	1	REG	\$109.00	\$109.00	
118	3.5	ОТ	\$125.00	\$437.50	

	Α	В	С	D	Е
				-children's park radio hung up ,can't access gui or	
			CIMS - BOSTON	pass traffic	Technician
119	24-Oct-18	REX II; JAMES D	Childrens Park	-reset radio and switch	Programmer
				-radio started acting flakey again, briefly causing one	
			CIMS - BOSTON	cam to drop	Technician
120	24-Oct-18	REX II; JAMES D	Childrens Park	-replace radio	Programmer
				Fenway park video monitoring assistance for BPD	
			CIMS - BOSTON	with various issues that came about as game as	Technician
121	24-Oct-18	SAVAGE;MARK	Fenway Monitoring	going on with various cams	Programmer
				Fenway park video monitoring assistance for BPD	
			CIMS - BOSTON	with various issues that came about as game as	Technician
122	24-Oct-18	WASHBURN; GREGORY R	Fenway Monitoring	going on with various cams	Programmer
				-10-23-18	
				16 plus cams dropped after heavy rain,	
			CIMS - BOSTON	Wayland/Dacia&hartford switches where hung up.	Technician
123	24-Oct-18	REX II; JAMES D	B2 and C6-17	Also C6 L st radio needed reboot	Programmer
				10-24-18	
			CIMS - BOSTON	- Columbia/Ceylon ptz needed power cycle, no	Technician
124	24-Oct-18	REX II; JAMES D	B2 and C6-18	access to pole last night	Programmer
			CIMS - BOSTON		Technician
125	24-Oct-18	WASHBURN; GREGORY R	Columbia and Quincy	Resolved camera issue	Programmer
				The PTZ was frozen. After 2 power cycles still	
				couldn't get video back. Camera needed to come	
				down had to reseed the ribbon connector. Also	
			CIMS - CHELSEA	reconnect both the phoenix connector and cat5	Technician
126	24-Oct-18	PAPPAS; SEAN M	McArdle Bridge	connector. Video is back up and recording.	Programmer
				Fenway park video monitoring assistance for BPD	
				with various issues that came about as game as	
127	28-Oct-18	WASHBURN; GREGORY R	CIMS Boston Fenway	going on with various cams	Technician Programm
			CIMS Boston Harrison and		
128	28-Oct-18	WASHBURN; GREGORY R	Kneeland	The PTZ was down, needed hard reboot	Technician Programm
				4 cameras down, found bad lan port on switch.	
129	28-Oct-18	WASHBURN; GREGORY R	CIMS Boston Hartford and Howard	Moved lan port of radio over 1 port on switch	Technician Programm
				PTZ down found water logged. Ptz now dead from	
130	28-Oct-18	WASHBURN; GREGORY R	CIMS BHA and Babson	storm was instructed to install 2 new fix cameras	Technician Programm
				The PTZ was frozen and showing no video. It needed	
			CIMS - CHELSEA	a hard reset. Also reconnect the connectors at the	Technician
131	29-Oct-18	PAPPAS; SEAN M	Broadway and Crescent	camera as well. Its' back up and recording	Programmer

	F	G	Н	I	J
	0	ОТ	#40F 00	4050.00	
119	2	ОТ	\$125.00	\$250.00	
120	2	ОТ	\$125.00	\$250.00	
121	3	ОТ	\$125.00	\$375.00	
121			'	, , , , , , , , , , , , , , , , , , ,	
122	3	ОТ	\$125.00	\$375.00	
123	1	REG	\$109.00	\$109.00	
124	1	REG	\$109.00	\$109.00	
		556		1010.00	
125	2	REG	\$109.00	\$218.00	
	0	ОТ	#40F 00	#250.00	
126	2	ОТ	\$125.00	\$250.00	
127	3	DT	\$145.00	\$435.00	
	1	DT	\$145.00	\$145.00	
128	Τ.	DI	\$145.00	\$143.00	
129	1	DT	\$145.00	\$145.00	
120	3	DT	\$145.00	\$435.00	
130	3	<u> </u>	Ψ113.00	Ψ 103.00	
	4	DEC	#100.00	#100.00	
131	1	REG	\$109.00	\$109.00	

	Α	В	С	D	Е
				Backhaul to BHA was down after last nights upgrade,	
				onsite found radio came unplugged when power	
				strip got knocked off shelf, upgrade radio firmware	
132	30-Oct-18	REX II; JAMES D	CIMS boston BFD DOT ave	on backhaul link	Technician Programm
				Found high latency on equipment past this site.	
				Replaced ptp300 to ubnt also replaced suspect	
				switch gathered missing equipment info for	
133	31-Oct-18	REX II; JAMES D	CIMS Chels Pearl and Will	intemapper	Technician Programm
				Found high latency on equipment past this site.	
				Replaced ptp300 to ubnt also replaced suspect	
				switch gathered missing equipment info for	
134	31-Oct-18	WaSHBURN; GREGORY R	CIMS Chels Pearl and Will	intemapper	Technician Programm
				These 2 cites needed to be taken down due to poles	
				being moved. They have been temporarily moved	Technician
135	31-Oct-18	MARCHAND; ALEXANDER	CIMS Chels Broad/4th	until the new poles are installed	Apprentice
				These 2 cites needed to be taken down due to poles	
				being moved. They have been temporarily moved	Technician
136	31-Oct-18	MARCHAND; ALEXANDER	CIMS Chels Broad/4th	until the new poles are installed	Apprentice
				These 2 cites needed to be taken down due to poles	
				being moved. They have been temporarily moved	
137	31-Oct-18	PAPPAS; SEAN M	CIMS Chels Broad/4th	until the new poles are installed	Technician Programm
				These 2 cites needed to be taken down due to poles	
				being moved. They have been temporarily moved	
138	31-Oct-18	PAPPAS; SEAN M	CIMS Chels Broad/4th	until the new poles are installed	Technician Programm
				These 2 cites needed to be taken down due to poles	
				being moved. They have been temporarily moved	Technician
139	31-Oct-18	VAZQUEZ CRUZ; DEWARS	CIMS Chels Broad/4th	until the new poles are installed	Apprentice
				These 2 cites needed to be taken down due to poles	
				being moved. They have been temporarily moved	Technician
140	31-Oct-18	VAZQUEZ CRUZ; DEWARS	CIMS Chels Broad/4th	until the new poles are installed	Apprentice
				6 cameras were down from this. At arrival to site	
141	01-Nov-18	WASHBURN; GREGORY R	CIMS Bost Southie	found on intemapper everything as back up	Technician Programm
				. 1 of the fixed was down and not showing video.	
				There was water in the can, after I dried it out and	
				hard rebooted the camera video came back on. Now	
142	01-Nov-18	PAPPAS; SEAN M	CIMS Winthrop	back up and recording	Technician Programm
				Link down due to noise, change frequency / channel	
143	03-Nov-18	REX II; JAMES D	CIMS Bost State and Congress	size, upgrade sw	Technician Programm
144					
145					

	F	G	Н	I	J
				_	
132	2	REG	\$109.00	\$218.00	
	4	ОТ	\$125.00	¢500.00	
133	4	Oi	\$123.00	\$500.00	
134	4	ОТ	\$125.00	\$500.00	
134			+	***************************************	
135	1	REG	\$85.00	\$85.00	
136	3.5	ОТ	\$115.00	\$402.50	
	1	REG	\$109.00	\$109.00	
137	1	REG	\$107.00	\$107.00	
138	3.5	ОТ	\$125.00	\$437.50	
130			+	, , , , , , , , , , , , , , , , , , ,	
139	1	REG	\$85.00	\$85.00	
140	3.5	ОТ	\$115.00	\$402.50	
	1.5	DEC	#100.00	#1/2 FO	
141	1.5	REG	\$109.00	\$163.50	
142	2	ОТ	\$125.00	\$250.00	
1.72	-	<u> </u>	,		
143	2	OT	\$125.00	\$250.00	
144	483			\$53,359.00	
145					

	A	В	С	D
1		LAN-TEL Communications, Inc.		
2		Billing for CIMS Project - Material Costs		
3		10.1.18		
4	Date of Service/Purchase	Location	Material Provided	Material Cost
5				
6		Nothing to Report		
7				
8				
9				
10				
11				
12			Total Material Costs	\$0.00

	Α	В	С	D	Е	F
1			LAN-TEL Communications, Inc.			
2			Billing for CIMS Project - Project Management Costs			
3			10.1.18			
4	Date of Service	Location	Work Performed	# Hours	Rate	Total
5	10/2/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	1.5	\$98.00	\$147.00
6	10/10/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	2	\$98.00	\$196.00
7	10/18/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	2	\$98.00	\$196.00
8	10/24/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	1.5	\$98.00	\$147.00
9	10/30/2018	Various Locations	Check Network, Project Management, Respond to POC calls and emails	2	\$98.00	\$196.00
10			Total	9		\$882.00

	G
1	
2	
3	
4	Special Event, PSNET or CIMS
5	
6	
7	
8	
9	
10	

	A	В	С	D	
1	October Labor Totals				
2	Labor Type	Hours	Total		
3	LAN-TEL Labor regular rate	226.5	\$24,688.50		
4	LAN-TEL Labor overtime rate	111.5	\$13,937.50		
5	LAN-TEL Labor double time rate	8	\$1,160.00		
6	LAN-TEL Labor Apprentice regular rate	64	\$5,440.00		
7	LAN-TEL Labor Apprentice overtime rate	8	\$920.00		
8	LAN-TEL Software Tech rate	16	\$2,000.00		
9	LAN-TEL Software Tech overtime rate	5	\$725.00		
10	LAN-TEL Software Tech double time rate	0	\$0.00		
11	Sonet	44	\$4,488.00		
12	Total Labor	483	\$53,359.00		
13					
14	Total Project Management Labor	9	\$882.00		
15	Total Labor & PM			\$54,241.00	
16	Octo	ber Mat	erial Total	S	
17	Total PTZ DvTel Cameras	0	\$0.00		
18	Total Fixed DvTel Cameras	0	\$0.00		
19	Total Power Supplies	0	\$0.00		
20	Total Bucket Truck Rentals (LAN-TEL & Sonet)	0	\$0.00		
21	Total Adapters	0	\$0.00		
22	Total Encoders	0	\$0.00		
23	Total NEMA Enclosures	0	\$0.00		
24	Total Astro Brackets	0	\$0.00		
25	Total Antennas & Assoc. Equipment	0	\$0.00		
26	Total Cable & Assoc. Hardware	-	\$0.00		
27	Total POEs	0	\$0.00		
28	Total Misc. Equipment	-	\$0.00		
29	Total Material Used			\$0.00	
30					
31	Total Billing for October Billing			\$54,241.00	